
Money

Exercise



Fill in the boxes :

5-paise coins have the value of a 25-paise coin. 

5-paise coins have the value of a 50-paise coin. 

5-paise coins have the value of a 1-rupee coin.
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10-paise coins have the value of a 20-paise coin. 

10-paise coins have the value of a 50-paise coin. 

10-paise coins have the value of a 1-rupee coin.



20-paise coins have the value of a 1-rupee coin. 

25-paise coins have the value of a 1-rupee coin.



Count the amount of money in the wallet :

The total amount of

money shown in the

wallet is : 

₹           and          P.



Fill in the blanks : 

1. How many 50 P coins make ₹ 2 ? .....4 ….

2.  How many ₹ 1 notes can be exchanged for a

5-rupee note ?........................ .

3.  ................... 10 paise coins make a rupee.



Fill in the blanks : 

4. .................... 20-rupee notes make 100 rupees.

5. How many 10-rupee notes can be exchanged 

for a 100-rupee note ? ......................... .



Convert a ₹ 100   

note into notes of 

₹ 20, ₹ 10 and ₹ 5
₹ 20

₹ 10

₹ 5



Read the price-tags of the following toys / articles 

and fill in the boxes :

₹ 12 ₹ 10 ₹ 5 ₹ 8 ₹ 14 ₹ 2 ₹ 25



The total price of a car and a teddy bear    =     ₹

The total price of a car and a cap                =     ₹

The total price of a softy and a teddy bear =     ₹

The total price of a cap and a book             =    ₹
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The total price of a cap and a ball  =                  ₹

The total price of a book and a pencil  =            ₹

The total price of a ball and a book     =             ₹



Read the price of the following items.

Considering the fact that you buy 4 items,

fill in the blanks :

Items

₹ 10 ₹ 5 ₹ 7 ₹ 8
₹
10

₹ 6



Apples

Sandwiches 

Colas

Peaches

Burgers

Milk

4 X  ₹ ...6…

4 X  ₹  ……

4 X  ₹  ……

….. X  ₹  ……

….. X  ₹  ……

….. X  ₹  ……

=  ₹ ...24…

=  ₹ .....….

=   ₹ .....….

=   ₹ ...……

=   ₹ ...……

=   ₹ ...……



Add:

405 rupees

+ 690 rupess

625 rupees

+ 248 rupees



Add:

15 paise

20 paise

+ 35 paise

25 paise

20 paise

+ 85 paise



Add:

315 rupees

418 rupess

+ 295 rupess

317 rupees

510 rupees

+ 615 rupees



Add:

₹ p

576     25 

+ 276     55

₹ p

425      65

+ 326      45



Add:

₹ p

125     30 

+ 146     50



Subtract :

648 rupees

- 359 rupees
481 rupees

- 326 rupees



Subtract :

85 paise

- 25 paise
40 paise

- 35 paise



Subtract :

848 rupees

- 329 rupees
544 rupees

- 398 rupees



Subtract :

₹         p

425     60

- 344     25

₹         p

387     65

- 298     35



Subtract :

₹         p

405     10

- 344     05


